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1. 

Which type of tree is tallest?

A. Cedar

B. Maple

C. Oak

  

2. 

250 bags are sold on .

A. Sat

B. Sun

C. Thurs

3. 

Amy has 7 books. 

Bill gives her (y) more. 

Now she has 11 books.

Which shows this?

A. 7 + y = 11

B. 7 − y = 11

C. 11 + 7 = y

4. 

b = 2

c = 3

(24 ÷ b) + c = 

A. 15

B. 6

C. 27



5. 

3(2y + 4y) =

A. 9y

B. 10y

C. 18y

  

6. 

14y = 28

y = 

A. 2

B. 1

C. 3

7. 

24 =

A. 2 × 2 × 2 × 2

B. 2 × 4

C. 2 + 2 + 2 + 2

8. 

6r = 66

r = 

A. 60

B. 11

C. 10



9. 

y = 9x

y = 81

x = 

A. 8

B. 9

C. 72

  

10. 

(4 + 3) × 3 + 2

First step: (4 + 3) = (7)

Next step: ?

A. (7) × 3

B. (7) × 2

C. 3 + 2

11. 

y ÷ 3 = 12

y = 

A. 15

B. 4

C. 36

12. 

Which shows the cost (c) of 10 pairs?

A. c = $10 × 10

B. c = $4.00 + 10

C. c = $4.00 (10)



13. 

4(y − 2) = 12

y = 

A. 3

B. 5

C. 12

  

14. 

4x + 3x = 7

x = 

A. 0

B. 2

C. 1

15. 

4(2y + 1y) =

A. 8y + 4

B. 12y

C. 9y

16. 

Which 2 months had the the fewest
days over 80°?

A. July and September

B. June and September

C. June and July
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